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Solved Examples

1. In any situation that has only two possible

outcomes, each out come will have probability


https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_zVDhNO6RjWEv

7 Find whether it is true or false.

° Watch Video Solution

2. A marble is choosen at random from 6
marbles numbered 1 to 6. Find the probability
of getting a marble having number 2 and 6 on
it.

A.1/2

B.O

C.1


https://dl.doubtnut.com/l/_zVDhNO6RjWEv
https://dl.doubtnut.com/l/_Xo13W53iyIdI

D. None

Answer: B

o Watch Video Solution

3. A marble is chosen at random from 6
marbles numbered 1 to 6. Find the probability
of getting a marble having number 2 or 6 on

it.

° Watch Video Solution



https://dl.doubtnut.com/l/_Xo13W53iyIdI
https://dl.doubtnut.com/l/_ASHmZBZ5nyah
https://dl.doubtnut.com/l/_yj4pExR7t8g1

4. A fair coin is tossed

(1) List the sample space.

(i) What is p (head), the probability that a
head will appear?

(iii) What is p (tail) ?

° Watch Video Solution

5. A fair die is tossed. List the sample space.
State the probability of the event :
(i) a number less than 3 appears

(i) a number greater than 3 appears


https://dl.doubtnut.com/l/_yj4pExR7t8g1
https://dl.doubtnut.com/l/_wRS5SRjeTfHA

(i) @ number greater than or equal to 3

appears

° Watch Video Solution

6. Two dice are thrown simultaneously. Find
the probability of getting :

(i) an even number as the sum

(i) an even number as the product

(ili) the sum as a prime number

(iv) a total of at least 10

(v) a doublet.

| e |


https://dl.doubtnut.com/l/_wRS5SRjeTfHA
https://dl.doubtnut.com/l/_gfEyDM5tuSpt

& watch Video Solution I

7.A die is thrown once. Find the probability of
getting : (a) a prime number (b) (b) a number
between 3 and 6 (c) a number greater than 4

(d) a number at most 4 (e) a factor of 6.

° Watch Video Solution

8. A standards deck of 52 cards is shuffled. Ritu
draws a single card from the deck at random.

What is the probability that the card is a jack ?


https://dl.doubtnut.com/l/_gfEyDM5tuSpt
https://dl.doubtnut.com/l/_2blrCyINREno
https://dl.doubtnut.com/l/_2LwcajN2EF5e

° Watch Video Solution

9. A bag contains 5 black, 7 red and 3 white
balls. A ball is drawn from the bag at random.
Find the probability that the ball drawn is :

(i) red (ii) black or white (iii) not black.

o Watch Video Solution

10. The probability of selecting a rotten apple

randomly from a heap of 900 apples is 0-18.


https://dl.doubtnut.com/l/_2LwcajN2EF5e
https://dl.doubtnut.com/l/_kiANqeIcc9M5
https://dl.doubtnut.com/l/_cLaqXSmy0vNC

What is the number of rotten apples in the

heap ?

o Watch Video Solution

11.In a class, there are 18 girls and 16 boys. The
class teacher wants to choose one for class
monitor. What she does she writes the name
of each on a card and puts them into a basket
and mixes thoroughly? A child is asked to pick
up one card from the basket. What is the

probability that the name written on the card


https://dl.doubtnut.com/l/_cLaqXSmy0vNC
https://dl.doubtnut.com/l/_eFzJhi1mk4uU

is (i) the name of a girl? (ii) the name of a boy?
(iii) the name of topper student of the class?
(iv) not "Shiv Kumar" who is the son of

Principal of this school?

° Watch Video Solution

12. One card is drawn from a well-shuffled deck
of 52 cards. Find the probability of drawing :
(i) an ace (ii) '2' of spades (iii) 10" of a black

suit.

° View Text Solution



https://dl.doubtnut.com/l/_eFzJhi1mk4uU
https://dl.doubtnut.com/l/_bPs9QPaSHDgT

13. Tickets are numbered from 10 to 60. A
ticket is drawn at random. Find the probability
that number drawn on the card is

(i) a ticket numbered from 22 to 38

(i) a prime number

(iii) divisible by 3

(iv) divisible by 3 and 2 both .

° Watch Video Solution



https://dl.doubtnut.com/l/_bPs9QPaSHDgT
https://dl.doubtnut.com/l/_E5V9b21WAHH2

14. A box contains 90 discs which are
numbered from 1 to 90. If one disc is drawn at
random from the box, find the probability that
it bears (i) a two-digit number (ii) a perfect

square number (iii) a number divisible by 5.

o Watch Video Solution

15. A game of chance consists of spinning an
arrow which is equally likely to come to rest

pointing to all of the numbers 1, 2, 3, ..12.


https://dl.doubtnut.com/l/_M6VHWmPcplAe
https://dl.doubtnut.com/l/_GClBor9jU0CD

What is the probability that it will point to (i)
10 (ii) an odd number (iii) a number which is

multiple of 3?7

° Watch Video Solution

16. Tickets numbered from 1 to 20 are mixed
up together and then a ticket is drawn at
random. What is the probability that the ticket

has a number which is a multiple of 3 or 77

° Watch Video Solution



https://dl.doubtnut.com/l/_GClBor9jU0CD
https://dl.doubtnut.com/l/_cn6nS4qbaTks
https://dl.doubtnut.com/l/_Rfeazl0t2lMh

17. A bag contains 15 white balls and some
black balls. If the probability of drawing a black
ball is thrice that of a white ball, find the

number of black balls in the bag.

o Watch Video Solution

18. The king, queen and jack of clubs are
removed from a deck of 52 playing cards and
then well shuffled. One card is selected from

the remaining cards. Find the probability of


https://dl.doubtnut.com/l/_Rfeazl0t2lMh
https://dl.doubtnut.com/l/_ismBSRaAgbf8

getting i)a heart ii)a king iii)a club iv) the 10 of

hearts

° Watch Video Solution

19. Find the probability of having 53 Tuesdays
ina:

(1) non-leap year (ii) leap year.

° Watch Video Solution



https://dl.doubtnut.com/l/_ismBSRaAgbf8
https://dl.doubtnut.com/l/_EohY61hxPbLD

20. From a pack of 52 cards, a black jack, a red
queen and two black kings were removed. A
card was then drawn from the remaining pack
at random. Find the probability that the card
drawn is :

(1) a black card (ii) a king (iii) a red queen.

o Watch Video Solution

21. It is know that a box of 600 electric bulbs

contains 12 defective bulbs. One bulb is taken


https://dl.doubtnut.com/l/_PP7nOuGKo9ZQ
https://dl.doubtnut.com/l/_LoNaUr3yeJcQ

out at random from this box. What is the

probability that it is a non-defective bulb?

° Watch Video Solution

22. Two customers A and B are visiting a
particular shop in the same week (Tuesday to
Saturday). Each is equally likely to visit the
shop on any day as on another day. What is
the probability that both will visit the shop on:

the same day?

° Watch Video Solution



https://dl.doubtnut.com/l/_LoNaUr3yeJcQ
https://dl.doubtnut.com/l/_MfKesUtJ0y3M

23. Frorn a pack of 52 playing cards all cards
whose numbers are multiples of 3 are
removed. A card is now drawn at random.
What is the probability that the card drawn is
(i) a face card (King, Jack or Queen) ?

(ii) an even numbered red card ?

o Watch Video Solution

24. Two different dice are thrown

simultaneously. What is the probability that


https://dl.doubtnut.com/l/_MfKesUtJ0y3M
https://dl.doubtnut.com/l/_oROXL5fOtL6f
https://dl.doubtnut.com/l/_VYlUv5gZSx7u

the sum of two number appearing on the top
of dice is.

(i) 9 (ii) 10 (iii) at least 10 (iv) 13 (v) less than or
equal 12

(vi) a multiple of 2 on one die and a multiple of

3 on the other die ?

° Watch Video Solution

25. Find the probability of getting 52 Sundays

in a leap year.

o Watch Video Solution



https://dl.doubtnut.com/l/_VYlUv5gZSx7u
https://dl.doubtnut.com/l/_U9xPD1i0vK5S

26. If a number x is chosen at random from the
number —2, —1,0,1,2. What is the

probability that z? < 2?

o Watch Video Solution

27. A circle with radius 10 cm is drawn
somewhere on a rectangular piece of paper of
dimensions 40cm x 30cm. This paper is kept
horizontally on table top and a point is

marked on the rectangular paper without


https://dl.doubtnut.com/l/_U9xPD1i0vK5S
https://dl.doubtnut.com/l/_yY7OYKILfIZo
https://dl.doubtnut.com/l/_cUM8FwZ6k2Vu

seeing towards it. Find the probability that it

will marked outside the circle.

Tak _22
a,eﬂ'—T

o Watch Video Solution

28. A square dart board is placed in the first
quadrant fromz =0tox =6 and y =0 to
y = 6 . A triangular region on the dart board
is enclosed by the lines y=2,z =6 and

y = x- Find the probability that a dart that


https://dl.doubtnut.com/l/_cUM8FwZ6k2Vu
https://dl.doubtnut.com/l/_BwBp34HToSC0

randomly hits the dart board will land in the

triangular region formed by the three lines.

° Watch Video Solution

29. Peter throws two different dice together
and finds the product of the two numbers
obtained. Rina throws a die and squares the
number obtained. Who has the better chance

to get the number 25?

° Watch Video Solution



https://dl.doubtnut.com/l/_BwBp34HToSC0
https://dl.doubtnut.com/l/_hkzz0qNtFwIo

Problems From Ncert Exemplar

1. A box contains 90 discs which are numbered
from 1 to 90. If one discs is drawn at random
from the box, find the probability that it bears
(i) a two digit number (ii) a perfect square

number (iii) a number divisible by 5.

° Watch Video Solution

2. A child has die whose six faces show the

letters as given below:


https://dl.doubtnut.com/l/_alIu7vgHTaGl
https://dl.doubtnut.com/l/_GDqkzpuhv9zf

(4] (8] [C] (D] (E) (A}

The die is thrown once. What is the probability

of getting (i) A, (ii) D?

o Watch Video Solution

3. Suppose you drop a die at random on the
rectangular region shown in Figure. What is
the probability that it will land inside the circle

with diameter 1m?

o Watch Video Solution



https://dl.doubtnut.com/l/_GDqkzpuhv9zf
https://dl.doubtnut.com/l/_X4vpyeSaralf

4. A die is numbered in such a way that its
faces show the numbers 1, 2, 2, 3, 3, 6. It is
thrown two times and the total score in two
throws is noted. Complete the following table
which gives a few values of the total score on
the two throws:What is the probability that

the total score is(i) even? (ii) 67 (iii) at least 67

o Watch Video Solution



https://dl.doubtnut.com/l/_yEwmTwcL1ROP

5. Two dice are throw at the same time and the
product of the numbers appearing on them is
noted. Find the probability that the product is

less than 9.

o Watch Video Solution

6. Two dice are numbered 1,2,3,4,56 and
1,1,2,2,3,3, resepectively. They are thrown and

the sum of the number is noted. Find the


https://dl.doubtnut.com/l/_lQyAKTAqBMSG
https://dl.doubtnut.com/l/_uEUqK0iPWYpP

probability of getting each sum from 2 to 9,

seperately.

° Watch Video Solution

7. A child's game has 8 triangles of which 3 are
bule and rest are red and 10 square of which
of 6 are bule and rest are red. One piece is lost
a random. Find the probability that it is a:

(i) triagle

(i) square


https://dl.doubtnut.com/l/_uEUqK0iPWYpP
https://dl.doubtnut.com/l/_OHjkgsg5PKuA

(i) Square of bule colour

(iv) triangle of red colour.

o Watch Video Solution

8. In a game the entry fee is ¥5. The game
consists of tossing coins 3 times. If one or two
heads show, Sweta gets her entry fee back. If
she throws 3 head, she receivers double entry
fees. Otherwise she will lose. For tossing a coin
three times, find the probability that she.

(1) loses the entry fee


https://dl.doubtnut.com/l/_OHjkgsg5PKuA
https://dl.doubtnut.com/l/_Wgfnml40R79G

(i) gets double entey fee

(iii) just gets her entry fee.

° Watch Video Solution

9. A bag contains 24 balls of which x are red, 2x
are white and 3x are blue. A ball is selected at
random. What is the probability that it is

(i) not red? (ii) white

o Watch Video Solution



https://dl.doubtnut.com/l/_Wgfnml40R79G
https://dl.doubtnut.com/l/_kqiOwDN5bCHW

10. A lot consists of 48 mobile phones of which
42 are good, 3 have only minor defected and 3
have major defects. Varnika will buy a phone if
its is good but the trader will only buy a
mobile, if it has no major defect. One phone is
selected at random from the lot. What is the
probability that t is

(i) accetable to Varnika?

(i) acceptable to the trader.

o Watch Video Solution



https://dl.doubtnut.com/l/_TUEHl4KlPaqD

1. Find the probability of getting head in a toss

of one coin:

o Watch Video Solution

2. A bag contains a red ball, a blue ball and a
yellow ball, all the balls being of the same size.
Kritika takes out a ball from the bag without

looking into it. What is the probability that


https://dl.doubtnut.com/l/_ykvnY56k9SfQ
https://dl.doubtnut.com/l/_v5QmYoRNhglk

she takes out the (i) yellow ball? (ii) red ball?

(iii) blue

° Watch Video Solution

3. A bag contains 3 white, 5 black and 2 red
balls all of the same shape and size. A ball is
drawn at random, find the probability that the

ball drawn is :

(i) a black ball (ii) not a red ball.

° Watch Video Solution



https://dl.doubtnut.com/l/_v5QmYoRNhglk
https://dl.doubtnut.com/l/_KreF3lxNJe2W
https://dl.doubtnut.com/l/_hZOgWwnqgbxu

4. Two coins are tossed simultaneously. Find
the probability of getting:
(1) exactly 1 head (ii) at most 1 head (iii) at least

1 head.

o Watch Video Solution

5. Shalu buys a fish from a shop for her
aquarium. The shopkeeper takes out one fish
at random from a tank containing 5 male fish
and 8 female fish. What is the probability that

the fish taken out is a male fish?


https://dl.doubtnut.com/l/_hZOgWwnqgbxu
https://dl.doubtnut.com/l/_jf45zGgBaguU

° Watch Video Solution

6. In a single throw of a die, find the
probability of getting a number :
(i) greater than 2 (ii) less than or equal to 2

(i) not greater than 2.

o Watch Video Solution

7. A letter of English alphabet is chosen at

random. Determine the probability that the


https://dl.doubtnut.com/l/_jf45zGgBaguU
https://dl.doubtnut.com/l/_ydoPIuqw02pc
https://dl.doubtnut.com/l/_Q0QHaxPTiWto

chosen letter is a consonant.

o Watch Video Solution

8. If the probability of Sayna winning a
badminton match is 0.81, what is the

probability of her losing the match?

o Watch Video Solution

9. Two friend were born in the same year, what

is the probability that they have :


https://dl.doubtnut.com/l/_Q0QHaxPTiWto
https://dl.doubtnut.com/l/_rMj1AsJOFSkJ
https://dl.doubtnut.com/l/_TFr4kEhXtfsS

(1) same birthday (ii) different birthday.

o Watch Video Solution

10. In a single throw of a die find the
probability that the number :

(i) will be an even number (ii) will not be an
even number

(iii) will be an odd number.

o Watch Video Solution



https://dl.doubtnut.com/l/_TFr4kEhXtfsS
https://dl.doubtnut.com/l/_kDgUbPkb9FEd

11. It is known that a box of 200 electric bulbs
contains 16 defective bulbs. One bulb is taken
out at random from the box. What is the
probability that the bulb drawn is (i) defective,

(ii) non-defective?

o Watch Video Solution

12. (i) If A and B are two complementary events
then what is the relation between P(A) and

P(B) ?

| & I


https://dl.doubtnut.com/l/_PveTeAxQ4lwp
https://dl.doubtnut.com/l/_AYHwuswfm64a

| ¥ Watch Video Solution |

13. 17 cards numbered 1, 2, 3...., 17 are put in a
box and mixed thoroughly. One person draws
a card from the box. Find the probability that
the number on the card is: odd (ii) a prime

divisible by 3 (iv) divisible by 3 and 2 both

o Watch Video Solution

14. Which of the following cannot be the

probability of an event :


https://dl.doubtnut.com/l/_AYHwuswfm64a
https://dl.doubtnut.com/l/_EcGbg45kvfvH
https://dl.doubtnut.com/l/_EJOXBbtLUsBV

(i) H (i) 2.7 (iii) 43 % (iv) — 0.6

(v) —3.2(vi) 0.357

° Watch Video Solution

15. A bag contains 3 red balls and 5 black balls.
A ball is drawn at random fret the bag. What is
the probability that the ball drawn is (i) red?

(ii) not red?

o Watch Video Solution



https://dl.doubtnut.com/l/_EJOXBbtLUsBV
https://dl.doubtnut.com/l/_diGIaLuxvJpz

16. In a family of 3 children the probability of

having at least one boy is

° Watch Video Solution

17. A bag contains 6 red, 5 black and 4 white
balls. A ball is drawn from the bag at random.
Find the probability that the ball drawn is :

(i) white (ii) red (iii) not black (iv) red or white.

o Watch Video Solution



https://dl.doubtnut.com/l/_33ttfCYvXBom
https://dl.doubtnut.com/l/_swWIPui4uW91
https://dl.doubtnut.com/l/_jB7Cw6hBw7Gp

18. A book contains 85 pages. A page is chosen
at random. What is the probability that the

sum of the digits on the pageis 8 7

o Watch Video Solution

19. Which of the following cannot be the
2
probability of an event : (A) 3 (B) —1.5 (C)

15% (D) 0.7

o Watch Video Solution



https://dl.doubtnut.com/l/_jB7Cw6hBw7Gp
https://dl.doubtnut.com/l/_1x7YlDji3VCH
https://dl.doubtnut.com/l/_n1VzQ4fpt3rL

20. Two dice are thrown at the same time.
Write down the possible outcomes. Find the
probability of getting the sum of two numbers
appearing on the top of the dice as :

(i) 13 (ii) less than 13 (iii) 10 (iv) less than 10.

o Watch Video Solution

21.In a musical chairs game, a person has been
advised to stop playing the music at any time

within 40 seconds after its start. What is the


https://dl.doubtnut.com/l/_n1VzQ4fpt3rL
https://dl.doubtnut.com/l/_2qMobACuP6bJ

probability that the music will stop within the

first 15 seconds?

@ >
O~ | w oo|r oo w

N

o

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_2qMobACuP6bJ

22. The probability of selecting a red ball at
random from a jar that contains only red, blue

1
and orange balls is 1 The probability of

selecting a blue ball at random from the same

jar is 3 If the jar contains 10 orange balls, find

the total number of balls in the jar.

o Watch Video Solution

23. A bag contains 18 balls out of which x balls

are red.


https://dl.doubtnut.com/l/_SalGNP2qRP3W
https://dl.doubtnut.com/l/_qS6JI3tta0tV

(1) If one ball is drawn at random from the bag
what is the probability that it is not red?

(i1) If two more red balls are put in the bag, the
probability of drawing a red ball will be %

times the probability of drawing a red ball in

the first case. Find the value of x.

O Watch Video Solution

24. From a well shuffeled deck of 52 cards, one
card is drawn. Find the probability that the

card drawn is (i) a face card (ii) not a face card


https://dl.doubtnut.com/l/_qS6JI3tta0tV
https://dl.doubtnut.com/l/_gkDnK6GbKl9i

(i) a queen of black colour (iv) a card with
nurnbcr 5 or 6 (v) a card with number less
than 8 (vi) a card with number between 2 and

0.

o Watch Video Solution

25. All the three face cards of spades are
removed from a well shuffled pack of 52 cards
A card is then drawn at random from the

remaining pack. Find the probability of getting


https://dl.doubtnut.com/l/_gkDnK6GbKl9i
https://dl.doubtnut.com/l/_G0ZJCICp44Gv

: (i) a black face card (ii) a queen (iii) a black

card.

° Watch Video Solution

26. Find the probability that the month of
January may have 5 Mondays in (i) a leap year

(i) a non-leap year.

° Watch Video Solution



https://dl.doubtnut.com/l/_G0ZJCICp44Gv
https://dl.doubtnut.com/l/_MP0adJWDwGWD

27. Find the probability that the month of
February may have 5 Wednesdays in (i) a leap

year (ii) a non-leap year.

o Watch Video Solution

28. A jar contains 24 marbles, some are green
and others are blue. If a marble is drawn at
random from the jar, the probability that it is
green is 3 Find the number of blue balls in

the jar.

| & I


https://dl.doubtnut.com/l/_xBMGEWxA1BMN
https://dl.doubtnut.com/l/_qkBWiPUJQwDJ

| ¥ Watch Video Solution |

29. Offices in Delhi are open for five days in a
week (Monday to Friday). Two employees of an
office remain absent for one day in the same
particular week. Find the probability that they
remain absent on :

(1) the same day

o Watch Video Solution

Revision Exercise Very Short Answer Short

Answer Questions


https://dl.doubtnut.com/l/_qkBWiPUJQwDJ
https://dl.doubtnut.com/l/_DV7o4s3Qp1Eh

1. A card is drawn from a pack of 100 cards
numbered 1 to 100. Find the probability of

drawing a number which is a square.

° Watch Video Solution

2. A die is thrown once. Find the probabilty of
getting:
(i) an odd number (ii) a number between 2 and

6.

I o Watch Video Solution


https://dl.doubtnut.com/l/_G40yILgNqcLl
https://dl.doubtnut.com/l/_q8FQZkdBuInr

3. In a badminton match beteen Salin and
Formcis the probability of wining of Salim is
0.58 . Find the prbabilitu of (i) not wining of

Salim (ii) wining of Fromcis.

o Watch Video Solution

4. In a single throw of a die, find the
probability of getting.

(i) a prime number


https://dl.doubtnut.com/l/_q8FQZkdBuInr
https://dl.doubtnut.com/l/_F7eEDaNgShNv
https://dl.doubtnut.com/l/_JkcGw9HrD6Qk

(ii) an even number

(il)) an even prime number

° Watch Video Solution

5. A card is drawn from a pack of 52 cards. Find
the probaility that the card drawn is

(i) a red card (ii) a black card .

(iii) ace of diamonf (iv) a queen or a jack.

o Watch Video Solution



https://dl.doubtnut.com/l/_JkcGw9HrD6Qk
https://dl.doubtnut.com/l/_ZTwAw387bzuZ

6.In a bundle of 50 shirts, 44 are good, 4 have
minor defects and 2 have major defects. What
is the probability that :

(1) it is acceptable to a trader who accepts only
a good shirt .

(i) it is acceptable to a trader who reject only

a shirt with major defects ?

o Watch Video Solution

7.1f P(E) = 0.34, find p(not E).

| & I


https://dl.doubtnut.com/l/_P9T3hel33fL1
https://dl.doubtnut.com/l/_Vz3U6ZtnSg7E

| ¥ Watch Video Solution |

8. A bag contains 100 identical marble stones
which are numbered form 1 to 100. If one
stone is a drawn at random from the bag, find
the probability that it bears (i) a number
divisible by 4 or 5 (ii)) a number divisible by 4

and 5.

o Watch Video Solution



https://dl.doubtnut.com/l/_Vz3U6ZtnSg7E
https://dl.doubtnut.com/l/_YhlD8FIPT8fF

9. A game consists fo spining an arrow which
come to rest pointing at one of the number
1,2,3,4,5,6,7,8,9, 10,11,12. Find the probability that
the point at (i) a prime number, (ii) a number
less than or equal to 9, (iii) a number between

3 and 11.

o Watch Video Solution

10. Two dice are throw simultaneously . Find

the probability that (i) both dice show the


https://dl.doubtnut.com/l/_p77X4HNzS5iM
https://dl.doubtnut.com/l/_JUzY5dARjTt1

same number, (ii) the product of the numbers
on the dice is 8, (iii) the total of the numbers

on the dice is greater than 9.

o Watch Video Solution

11. A book contains 32 pages. A page is chosen
at random. What is the probability that the
sum of the digits on the page is :

(1) divisible by 2

(i1) divisible by 3.

(iii) divisible by 5


https://dl.doubtnut.com/l/_JUzY5dARjTt1
https://dl.doubtnut.com/l/_Ly63rUXHb7wK

(iv) divisible by 2 or 3 or 5

(v) divisible by 2,3 and 5 ?

° Watch Video Solution

12. Write the probability of an impossible

event.

o Watch Video Solution

13. Write the probability of a surve event.

o Watch Video Solution



https://dl.doubtnut.com/l/_Ly63rUXHb7wK
https://dl.doubtnut.com/l/_fsEUXcbCRoPW
https://dl.doubtnut.com/l/_QWciL1oAGGjL

5
14. Can it be the probability of any event as 3

?

° Watch Video Solution

15. A bag contains red, white, blue balls. Write

the sum of P (red), P (white) and P (blue ) balls.

o Watch Video Solution



https://dl.doubtnut.com/l/_QWciL1oAGGjL
https://dl.doubtnut.com/l/_vAS5jN7Orz77
https://dl.doubtnut.com/l/_xiPic7sZucGR

16. A bag constains white, black and red ball
only. A ball is draw at random form the bage. If

3
the probability of getting a white balls is —

10

2
and that of a black ball is 5 then find the
probability of getting a red ball. If the bag

contains 20 black balls, find the total nhumber

of balls in the bag.

o Watch Video Solution



https://dl.doubtnut.com/l/_x5J08uwvQneI

